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oIt 45,0003 * 18 » 11 495
o A2t=% 67,0408 * 18 » 52 x 108 3,352
cNE MHEE 2E
16,267,000& = 3.15% 513
Os28 2T MZ(FIAL2ZR) 16,780
cJlEg=s 45,000& = 198 * 230 10,350
oFFd 45,0003 * 18 » 46 2,070
oIt 45,0008 * 18 = 11 495
oAt 67,0403 * 1H * 52 + 103 3,352
cNEMUMEE RBES3
16,267,000& * 3.15% 513
OZotA HS2E M2 (BINHLZZ2X) 16,780
=Jl2g 45,0003 * 1% = 230 10,350
oFF 45,000& * 18 = 46Y 2,070
SRG PN RS 45,000& * 1¥ = 11 495
o A2H2l=& 67,0408 « 1& » 52 « 108 3,352
cUBAMNEE RES
16,267,000& = 3.15% 513
ONge HE2EHZ(ZIAHLZZR) 16,780
=JlE= 45,0003 * 1% = 230 10,350
oFF 45,000& * 18 = 46 2,070
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A= JIEtAL Y & AR == =Rl =]
g I3 AN2 243 € 2 Axd
S AEENZ 2823 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
SRG PN RS 45,000& * 18 = 11 495
oAlZt2l=" 67,0403 * 1¥ * 52 « 103 3,352
cINEMUMEE RE3
16,267,000& = 3.15% 513
O8Y H2MZ(HIHAA2ZR) 16,780
=Jl2g 45,0003 * 1% = 230 10,350
oFF 45,0008 * 18 = 46 2,070
cXt+¢ 45,0003 * 1% » 11 495
o A2H2l=& 67,0408 « 1 » 52 « 108 3,352
cBMNEE RES
16,267,000& = 3.15% 513
ORFT UM (HIAL2ZR) 16,780
cJIE= 45,0003 * 1% = 230 10,350
oFxsad 45,0003 = 1Y » 46 2,070
oIt 45,0003 * 18 » 11 495
oAzt 67,0403 * 1Y * 52 x 103 3,352
cNB ATEE 223
16,267,000& = 3.15% 513
OZ2 StHHIAZ(HIHA2ZXL) 16,780
cJIE2=s 45,0008 * 19H * 230 10,350
oxFF g 45,0003 * 1% « 46 2,070
oIt 45,0008 * 18 = 11 495
oA AT 67,0408 * 1% » 52 « 108 3,352
CNB ATRE 223
16,267,000& = 3.15% 513
O2F oelol A=A (HIHLZZ2XL) 16,780
=lles 45,0009 * 1989 * 230 10,350
oFFd 45,0003 * 18 » 46 2,070
oIt 45,0008 * 18 = 11 495
oAt 67,0403 * 1¥ * 52 + 103 3,352
cINEMUMEE RBE3
16,267,000& = 3.15% 513
OR2 8 N (ZIHL2Z2X) 16,780
=Jl2g 45,0003 * 1% = 230 10,350
oFF 45,0008 * 18 = 46 2,070
cXts¢ 45,0003 * 1% » 11 495
o A2H2l=& 67,0408 « 1 » 52 « 108 3,352
cBAMNEE RES
16,267,000& = 3.15% 513
ONESY AHEA(FIHAZZX) 16,780
=JIE= 45,0003 * 1% = 230 10,350
oFxsad 45,000& * 1H = 46 2,070
oIt 45,0003 * 198 » 11 495
o A2l =& 67,040& = 58 = 10& 3,352
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A= JEAME A AR == =Rl =]
g I3 AN2 243 € 2 Axd
S AEENZ 2823 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
cls dNEs S22
16,267,000& = 3.15% 513
OANEEY dUNEEA(HIIHL2ZR) 16,780
=Jl2g 45,0003 * 1% = 230 10,350
oFF 45,000& * 18 = 46 2,070
cXtsg 45,0003 * 18 » 11 495
o A2l =& 67,040& = 58 = 10& 3,352
cNEMMEY RE=
16,267,000& = 3.15% 513
OANEEL HEl0IAREZA(BIHLZZ ) 16,780
cJIE= 45,0003 = 1% = 230 10,350
oxFFd 45,0003 * 1% 46 2,070
oIt 45,0003 * 18 » 11 495
o A2l =& 67,040 = 58 = 10& 3,352
cINEMUMEYE RE=
16,267,000& = 3.15% 513
OANEEY ZENEA(EIHAZ2ZA) 16,780
cJIE2=s 45,0002 * 198 * 230 10,350
oFFd 45,0003 * 198 « 46 2,070
oIt 45,0008 * 18 = 11 495
o A2 =E 67,040& = 5& * 10& 3,352
cINEMUMEE RE3
16,267,000& * 3.15% 513
04 JIZHHZ2XNESE S+ 117,458 454,220 A 336,762
O2=F etdA3a 16,780
=Jl2g 45,0003 * 1% = 230 10,350
oFFH 45,0003 * 1H = 46 2,070
oIt 45,0008 * 18 = 11 495
o A2H2l=& 67,0403 « 1 » 52 x 108 3,352
cUBUMUNEE RES
16,267,000& = 3.15% 513
O% AN DBEY 33,559
=llegs 45,0003 * 2% = 230 20,700
oFsad 45,0003 * 2% 46 4,140
SRS, 45,0008 = 298 * 11 990
oAzt 67,0403 * 2 x 52 x 103 6,704
cNEMMEY REE=
32,534,000& = 3.15% 1,025
O2=F dAEE4 16,780
cJIE= 45,0002 * 1H * 230 10,350
oxFF g 45,0003 * 1% « 46 2,070
oIt 45,0003 * 18 » 11 495
o A2l =& 67,0403 = 52 x 103 3,352




AR JIEAIY A SNBSS N
HE: ZTCAB B ESE
Chelr AEEM2 29 )
e VRE-E ) HEAY - BYS 0l &t o il HImEET
cUBUMUNEE RES
16,267,000& = 3.15% 513
Ox=g A2 M 16,780
=Jl2g 45,0003 * 1% = 230 10,350
oFF 45,000& * 18 = 46 2,070
cXtsg 45,0003 * 18 » 11 495
oAlZtA=" 67,0403 * 1¥ * 52 x 103 3,352
cEMMEES 16,267,000& * 3.15% 513
OFHTE M2 33,559
=Jl2g 45,0003 * 2% = 230¢ 20,700
oFFE 45,0003 * 2% 46 4,140
oIt 45,000& * 2¥ = 11 990
o Al 22| == 67,040& = 2H * 52 » 10 6,704
cINEMUMEE BE3
32,534,000& = 3.15% 1,025
201 €24l 206,248 210,028 A 3,780
01 AL 22l 146,388 145,648 740
Oget==EH| 137,720
o AHRESHI 500,000& = 123 6,000
clE Y AHHS(14MA)
2,000,000& = 128 24,000
o M = 10,000& = 20074 2,000
o M2te 12,000,000& * 43/ 48,000
=RFID 1,300& = 5,00004 6,500
oXz 4 = 600,000& = 123 7,200
oS M mar ==2 1,500& = 5,000 7,500
o™Xt A22F  800,000& * 123 9,600
c &l - 700,000& « 123 8,400
o WAl Jdole
3,000,000 * 14l 3,000
ocHFH 4,000,000& 14! 4,000
o MZ2EME JIE =&Y
80,000& = 1202 = 123 11,520
O M2 1,400,000& * 23] 2,800
ou=l 1,500
o AHA | 25,000& = 609 1,500
O= &l 4,368
oJl=¢g AlH|
L0003 » 2 * 6& * 52 4,368
02232 59,860 64,380 A 4,520
OF=F=32 15,700
o(M)B3TMZEaIHI(AIE)
300,000& * 10 300




A= JIEtAL Y & AR == =Rl =]
g I3 AN2 243 € 2 Axd
S AEENZ 2823 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
cH=ZZcANaZANT Falul
300,000 » 2002 600
oSMS At & 200,000& = 12# 2,400
o ME 2HY AEZ 900,000& = 123 10,800
o=ZQoIE MEE 500,000& * 1Al 500
CHHEZQS MEZ 500,000& = 14 500
c0lSENM2 AHY AIEZ
50,000& = 123 600
OA&EHl s Xl 40,560
o N2 EHOIX |X2e
180,000& * 128 2,160
ocMIEANE KA 2L 800,000& = 123 9,600
o M& AB |sX2el 1,300,0008 * 123 15,600
oRFID &Hl FXl&2| 950,000 * 12& 11,400
o255l FA L 450,000& = 43| 1,800
OXMt=Z2 1 S22
150,000& » 202 = 123 3,600
207 &7 2l 20,000 0 20,000
02 & AR I 20,000 0 20,000
OANEEAMZ SHOIX MHHE F=
20,000,000 * 14l 20,000
401 Al HI L =2 Tl 110,000 119,000 29,000
01 A& HI 110,000 119,000 A9,000
OANEEZM2 Al & 22,000,000& * 5014 110,000
405 RHoHE S HI 421,500 595,800 A 174,300
01 AL EZFH S 58,500 193,800 A 135,300
O&XEEA 0IEXE BFH ¢
1,500,000& = 1504 22,500
O0lsEN2t tES 22 1,500,000& = 1CH 1,500
OANESLENMZ 224 HULLEZNE 2¢
3,000,000& » 14 3,000
ONEESLENMZ 0IEXE ZEH
500,000& = 1CH 500
OHHEX A 7& 30,000,000& * 14l 30,000
OZEIDICIHAHY MS 2toldlA ¢
1,000,000& * 14l 1,000
02 = A=l 363,000 402,000 A 39,000
OANEENMZ SA7E 13,000& * 5,000& 65,000
Oz M2 A7 13,000& = 5,000& 65,000
OXSEMZ TAZFE 13,000& * 10,000& 130,000
O0lsZ N2t ETA7Y 13,000& = 2,000& 26,000
OsIdE N 7 15,000& = 250 » 123 45,000
OZUHEM(EAM) ¢ 16,000& = 2,000& 32,000




DJIEBFAR &

L ZREME

0]

!
CANEEAE 2

F-RA-BH-SAEN) - HRAY - BAS il HI RS2
FHIN2E2E 64,000 0 64,000
201 £et23E | 44,000 0 44,000
01 At 22l bl 32,000 0 32,000
OFHZET M2 LIt 2,500,000& » 12& 30,000
OJIet=EHl 2,000,000& = 14 2,000
02 s3=9Hl 12,000 0 12,000
O33es= 1,000,000& » 12& 12,000
405 At&tE =H| 20,000 0 20,000
01 ML ESFHSH 20,000 0 20,000
o¥dz7d 20,000,000& = 14! 20,000
AsI2el 1,098,489 894,787 203,702
101 1248l 28,392 258,213 A 229,821
03 RIHAKZZNHE =+ 18,492 0 18,492
OB A2 (EIHAZZXL) 18,492
=Jlza 49,5008 = 198 = 230 11,385
oFxgs+dg 49,5008 = 18 » 46 2,277
o Xt=g 49,5008 * 18 » 11 545
oAl2te=g  74,400& » 18 « 5& » 103 3,720
cNEMNEE RE=S
17,927,000& = 3.15% 565
04 JIZtNZ22XNSES 9,900 258,213 A248,313
OM=z=o=2d 49,5003 = 2& « 10 » 10& 9,900
201 2gr= 4l 807,197 403,447 403,750
01 At 2t 2l bl 62,370 63,140 ATT0
Oget=ZH| 56,000
o F & H =X 300,000& * 12& 3,600
oFAMZE ARFE 3,500,000& » 12& 42,000
ol 3AAESE 400,000& * 12E 4,800
o J|HEHl =Xl 300,000 * 128 3,600
o AN&=R X2l 500,000& * 43| 2,000
O/ W=l 540
ot X = 150,000& * 23] 300
ST AIJtA QA 2RI WS
240,000& * 14 240
o=l 70
oF A2l At LI =8I 35,0003 = 18« 23] 70
ogxz 5,760
oM&&H ¥z 640,000& * 3CH * 3% 5,760
02 3524t 744,827 340,307 404,520
0332 & MA 278,724
oRUMNEZ 15,000& = 2JH 4 + 12 360
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AR JIEAIY A SNBSS N
M ZZTAS B4d5 ¥ 2 EAEXY
Chelr AE M2 28235 (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
SNg. 2= dJAE=
4,500,000 * 20HA » 128 108,000
oSN HIIB
500,000& * 1001 = 12& 60,000
ST AINAAERE 500,000& = 43 2,000
o& - otk AEE
400,000 * 244 * 128 9,600
SRSEMT 4 BT MEE
30,000 * 6O + 12& 2,160
= XS XAl 200,000& = 2CH 400
o&¥SE =HZE  1,000,000& * 2L * 13 2,000
oXA2EANE X =E
200,000 » 30H A 600
oMeJIMe ==&
650,000& » 202 = 123 15,600
ocMIIGHMEH =22 600,000& * 20 A 1,200
CIIACHME L= 200,000& * 13l 200
oAYAIM 22 Y =25
130,000& » 202 = 123 3,120
ocMI|ItMAIUY =T
800,000& = 12& 9,600
ocAYHIEH =8 900,000& * 20 2 1,800
o5 HEEH =2
80,000& * 3L * 128 2,880
o=z el 120,000& * 128 1,440
o2d3d HFAg 400,000 * 2HA * 23] 1,600
oHtE AN 3,900& = 560m 2,184
oA YAMAEY 500,000 * 40H 2 2,000
cHEMESAS 1,200,000& = 2 2 2,400
CXA2ENZ BANEELS
300,000& * 1370 A& 3,900
cEMASE 650,000& = 12& 7,800
ocEAME L2 200,000& * 2 * 23 800
oXtsx EZd 2E3 150,000& * 20K 300
cuWESREFEZ 200,000& * 22 * 23 800
oA YOHME 3 I 200,000& * 2 A * 13 400
odtst a2l Xt 2l bl 50,000& = 23l 100
oAZE ot ¥ MDHUEH
500,000& * 14l 500
oXEEEZ 450,000& * 204 900
ocZJIEFI AUz 280,000& = 12& 3,360
o) U= 800,000& = 123 9,600
oHlO U= 60,000& = 12& 720
cAE . 2FRIHAMNES
500,000& = 12& 6,000




M ox
40 5 4

DJIEBFAR &

L ZREME

0]

!
CANEEAE 2

%

i

1§
x
0!
1z
o
o>

o

= - — SHE|
AR 2A-ZH-BAEA) - MY - BES e 2
SHECANE fodbAss
1,200,000& * 128 14,400
O ZHl 1,500
oMEST AR HYH 300,008 * 5% 1,500
OA& &l Xl 54,603
oA =R Al 4,100,000 * 29H 8,200
ocXEZNE HERAHI
1,500,000& * 7004 10,500
oXMI|l 2 JIAAE KL
2,000,000& * 200 A& 4,000
CRZ WLBAIAH SXBa
18,000& = 7501 » 12& 16,200
oA YWHEAAH STES
18,0002 = 2104 » 12& 4,536
o24E FHlIS Xl 11,167,000& * 14 11,167
O Xl 10,000
cl0lsEM2 & =320
5,000,000& = 2CH 10,000
OENZEAEY & 22l
400,000,000& = 14! 400,000
206 = Hl 14,900 13,200 1,700
01 M2 4l 14,900 13,200 1,700
O==228 Mz 600,000& * 74 2 4,200
OHEE Z 7¢ 500,000& » 7002 3,500
O== d=cil &M 800,000& = 3MA = 33 7,200
401 Al Bl 28I 235,000 207,848 27,152
01 A& HI 235,000 207,848 27,152
OXRSTNE L LECHZ A2
210,000,000 * 14! 210,000
Ot N2 25 A8 HAFH L HAX3
Al 25,000,000 * 14 25,000
405 THobH S| 13,000 12,079 921
01 AL =2 S FH S| 13,000 12,079 921
OoM2E &I 2¢ 800,000& » 103 8,000
OAMIt 2 1,000,000& * 5JH 5,000
[EEAM2 2F 238 2 Bl 7,200 7,000 200
202 odl 7,200 7,000 200
01 = LH 4 1l 7,200 7,000 200
OEAM22Z 2 o & ol
20,000& * 6F = 603l 7,200
° & 29 74,832 58,935 15,897
stol & &22gZ 45,832 28,935 16,897
101 @124 dl 33,560 15,663 17,897




NETSII=IYS-PY SNBSS N
HH: ZBEND BHE YL SHCAES
©el: 250 T 29 (B9 ®R)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
03 I HL 2= HE S 16,780 0 16,780
O2&od 2H (&I H <) 16,780
oJlEa2 45,0003 * 19 = 230 10,350
oFsY 45,000 * 1Y x 46 2,070
oA Xt& 45,000 + 19 » 11 495
o A 2tQl =& 67,0403 * 14 = 52 * 10& 3,352
oclE MM EYE REE=
16,267,000& * 3.15% 513
04 JI2ZtH 22 XNEE 16,780 15,663 1,117
O=2g2d 29 16,780
oJlgaz 45,0008 * 1% x 2302 10,350
oxFFmY 45,000 + 19 = 46 2,070
oA Xt 45,0008 * 14 x 11 495
oAl 2te| =& 67,040 » 19 = 52 = 10& 3,352
oclE NMEE REE=2
16,267,000& * 3.15% 513
201 et | 9,172 10,172 1,000
01 AR 22| I 3,072 3,072 0
Ogst2H| 2,400
cJIBAMIEES 50,000& * 12& 600
oXt& 2| 100,000& * 12& 1,200
oA EH| %24l 50,000& * 12& 600
OZ &l 672
o OfAHI 7,000& * 83 * 12& 672
02 53294l 3,100 3,100 0
O332=2 % HAl 3,100
o239 & g3l 700,000& * 13 700
o ZH 0l Xl S AlIE44l 150,000& * 12& 1,800
oS &7 Xl 50,000& * 12& 600
03 SHAtS H b 3,000 4,000 A 1,000
OJIE0| EMote HFY ME2F2H
3,000,000& * 14 3,000
202 4] 1,100 1,100 0
01 2LHOHI 1,100 1,100 0
O2329 & 89 2 g42=& ¢4l
20,000& * 1Y x 553 1,100
301 dEtEAZ 2,000 2,000 0
09 HALAHIEA = 2,000 2,000 0
OXNJASAMA SH Y WESH|
2,000,000& * 14 2,000
ABI SIS0 24 ZTZNE 13,000 14,000 A 1,000
201 Yete | 13,000 14,000 A1,000
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A 1,000

520

520
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475
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H3r
Wikd
RIS

14,000

10,000
10,000
10,000
6,000
6,000
6,000

20,300

20,300
20,300
12,500

9,500

3,000
4,200
4,200

3,600

600

Off &t 24

13,000
5,000
4,000
4,000

10,000
10,000
10,000
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6,000
6,000
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20,820

20,820
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1,500
1,500
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2,000,000& * 14

=2/l

X &Y
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N = 0l & At & Ml A

JIEFARS & M 2=8E2
=S - HESAIE
SLEEANEISEL (&)
CRA - FB - BA(BH) - MEMY - BYS 0l &t o il HImEET
geEa 786,824 3,264,089 A2,477,265
= 30,000
Al 756,824
=8 -gs2ads 765,060 3,242,325 A2, 477,265
< 30,000
Al 735,060
SEANEI)IsES 380,952 344,528 36,424
FANRX 22 263,030 218,585 44,445
201 Let24d] 168,530 167,585 945
01 At 22l 47,550 47,550 0
Oget=&H| 9,600
oZS3EA A2F P 800,0008 * 12 9,600
O gxz 1,000
o MAEXE Xt 500,000& * 23 1,000
o2g+g 36,950
o U X G 50,000& = 3% = 3& 450
o=xXag 50,000& = 2% = 365¢ 36,500
02 2324l 120,980 120,035 945
OA& &l Xl 17,420
SIEMIAI RRNE =
10,0002 * 204 = 12E 240
cHEE €A #XE2+ 250,0008 * 123 3,000
CREHANYLSREAN RABL
550,000& * 12& 6,600
oMAY HZMME L JISOHHE WA
40,000 = 128 480
o HMIINE RAE=S 150,000& * 128 1,800
ocAaAE RAE=S 50,000& = 12& 600
o) FANES 50,000& = 123 600
o3& RAE=> 700,000& * 23 1,400
ocg=AE |RAEs 500,000& = 23l 1,000
°Jl28 RAE=> 500,000& * 23 1,000
oATAE SEHEH 700,000& * 12 700
O2=22=2% AAH 92,020
cHR2F I =2 70,000 * 12& 840
o83 X 2+ 3,000,000& * 13l 3,000
oHMIIHHUY =2 580,000& * 12& 6,960
cHANAMIIZE 5,500,000& » 12& 66,000
oMot E ABE 500,000& = 12& 6,000
cAE=E SINERES 400,000& = 23l 800
oA 2oM E 3l | 200,000& = 23 400
cSHad MEE 85,000& = 123 1,020
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M ox
40 5 4

=8 - H=AdE
SEANEIISEY

Bl
x
0
EE
]
1T
Mo
sl

R.RN-ZE-E(HH) - HRAY - BES il Hl D = 2t
cE=Jlag AA P
7,000,000& * 14! 7,000
OXtgk & Bt Y| 1,700
CHAZANEIN RAES 700,000& = 14 700
cZHIE FANE= 1,000,000& * 14l 1,000
Ozl 9,840
oZgey ¥ FH HAZHI 700,000 = 12& 8,400
S AEX & HHIE A=
120,000& = 12& 1,440
206 M=l 1,000 1,000 0
01 =8l 1,000 1,000 0
O - AHHUN=2E=ESsE =7
50,0003 = 208f A 1,000
401 Al& Bl 28I 85,000 50,000 35,000
01 A& HI 85,000 50,000 35,000
Oexsietgx AW MRX EXNE4
45,000,000& * 14 45,000
O&dU &= E2Z A 10,000,000& * 14 10,000
OzelAIRa~E=a2 &EH0IE EX3A
7,000,000& = 14 7,000
OFXE 2 SLSHA(INS) LED ¥SEX3
At 5,000,000& = 14! 5,000
O=24d A #E30ls X3S At
3,000,000& * 14 3,000
ogtsa d+3 =3 BHI WS A
3,000,000 = 1A 3,000
O A ZHQ ANSELE B3 A
2,000,000& = 14 2,000
Ox=2 102D & =2 E XS A
10,000,000 * 14 10,000
405 XH&HE S HI 8,500 0 8,500
01 XA 2 EFH SHI 8,500 0 8,500
OoAHga ATt7< 300,000& = 1504 4,500
OARE X7 200,000& = 204 4,000
EEFH ZAEXY 117,922 125,943 A 8,021
101 12 dl 74,522 71,543 2,979
04 JI2HH22NHSES 74,522 71,543 2,979
OFaaeoEd 62,147
SPIEt= 49,5003 * 49 » 230 45,540
oxFH 49,5003 * 4Y x 46 9,108
SR PR 49,5003 * 4% » 11 2,178
ocA2AZ2RY 9,300 * 462 * BAlZ2t 3,423
cNEBMWEE 2L3
60,249,000& * 3.15% 1,898
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M ox
40 5 4

0
EE
]
1T
Mo
sl

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
OM=z=22 LAIAIE gl
49,500 * 5% = 50 12,375
206 M = Hl 17,400 17,400 0
01 & bl 17,400 17,400 0
OHEZ 2Y 500& * 10,000& 5,000
>=HZF 2 50,000& * 204 1,000
OO0rM3g P2¢l 1,000& = 5,000 5,000
O+=222 5% L HETY
4,000,000& * 14! 4,000
Ot 2Etel 7 16,000& = 1500H 2,400
207 A O Y| 5,000 0 5,000
01 A2 &S| 5,000 0 5,000
OQ=EsUSY 22 FAEY
5,000,000& * 14! 5,000
401 Al HIL 201 20,000 35,000 A 15,000
01 Al& bl 20,000 35,000 A 15,000
O2E BSXANU &X3At
10,000,000& * 14 10,000
O&L Y sESA 10,000,000& * 1Al 10,000
405 XH&HF SHI 1,000 2,000 A 1,000
01 At = S F SHI 1,000 2,000 A 1,000
Oou=J #=¢ 500,000& * 2CH 1,000
UHM2X 243G 115,970 108,675 7,295
=EF EE 2F 78,000 77,565 435
201 et A | 68,800 69, 165 A 365
01 AFR2t2l Yl 53,000 53,000 0
Oget+=gH| 47,900
oZted ol 40 * 300,0000H 12,000
oc=EHEE Z2IFY H&H 200& * 120,0000H 24,000
oI X ZAECHH E82 I} HZ
5,000& * 2,000% 10,000
oJIMEHEZY 380,000& ~ 5& 1,900
O =l 5,100
o Zte 2 Ot Il =H] 300,000& « 174 5,100
02 35244l 15,800 16, 165 A 365
Oo3302 £ HAl 15,800
ocEHZEYSE REZ(SI]) 2,5008 * 7928 1,980
cEPE2YL QEUI(BEE) 5208 * 3,500 1,820
CcIIEZM =2 1,000,000& = 12& 12,000
301 dBEtE A= 8,400 8,400 0
09 HAIAH EA = 8,400 8,400 0
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A= JIEFA A SN Esge
HH: Q=f - USHIES
ool BT AAYY LMY CER-ED
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
Oogxz 1,600
ocRERENY (PRI SIHE)
800,000& * 23 1,600
02 2324l 24,020 24,000 20
O330= % HAl 6,500
cREHAYLSY S22
100,000& * 50& 5,000
c=FAEYSH HSIAWES
900,000& * 14 900
o222 3l 300,000& * 23 600
OA& & HlIS X bl 17,520
o2 BI RANES 160,000& * 12 1,920
osdJl |A 2= 110,000& * 10H » 128 1,320
o(CCTVE A 2 == 50,000& * 122 600
Cc=SAEYSS RUIHIAAY FAES
650,000& = 12& 7,800
of2geE=ad RUFHAAY RAEs
240,000 ~ 12& 2,880
ogtga AHE Y KA E=Hl
1,500,000& * 2J0H A 3,000
301 et 8= 5,000 5,000 0
NIJIEEd=s 5,000 5,000 0
ORSIEXN B¢ 1,000,000& * 53] 5,000
401 AIEHI L 2 CHYI 55,000 49,000 6,000
01 A& HI 55,000 49,000 6,000
OOATAE Ch=0 SHolEMElA 2=
700,000 » 2004 & 14,000
O=2ds HAEMN 252 X 3A
10,000,000& = 14l 10,000
OS2 URHAY E=3A 28,000
ootolel FXtel seluiMBA
8,000,000& = 14 8,000
ocYAZX ZE WIS A
20,000,000 * 14l 20,000
OAASST, BEQLH A2 BLTA
1,500,000& * 200 A& 3,000
FHMAEAXA(S2H) 100,000 100,000 0
< 30,000
Al 70,000
307 21201 A 100,000 100,000 0
< 30,000
Al 70,000
04 DIZHHALALSE 2 X 100,000 100,000 0
OS2 HMEA XI& 100,000,000& * 1Al 100,000
< 30,000
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A= JIEtAL Y & PN =2
MM Q=H - USBIE
Sl B AANYY BHY (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
Al 70,000
SN AZBYBHEAY 7,000 7,000 0
206 M= Hl 7,000 7,000 0
01 =8l 7,000 7,000 0
O=SLEES M= 35,000& = 2004 7,000
StEE S X3S 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
02 It MAHEE 5,000 5,000 0
OstEsd3SX3 XA 5,000,000& = 14! 5,000
dsEstEEs=i3l 3,500 3,500 0
307 21201 A 3,500 3,500 0
02 HAFHAANGFEE 3,500 3,500 0
OZszsagaslis Bx
3,500,000& * 14l 3,500
2 29 243t 59,958 2,561,862 A 2,501,904
sZ2e23 38,958 37,862 1,096
101 @124 Hl 31,158 29,462 1,696
03 RIAHAZZ2 T E =+ 16,503 0 16,503
OtHzgder2 2 ot HIIAHAZIZT E= 16,503
=JlEg 45,0003 = 1% = 230 10,350
oFxsad 45,0003 * 1Y » 46 2,070
ot 45,0003 * 198 » 11 495
oA TRLY
8,380& * 1% * 462 = 8AlZt 3,084
CNBMTHEE 2L
15,999,000& =« 3.15% 504
04 JIZHHZ2Z2XRHEE S 14,655 29,462 A 14,807
otizger=a Faze| 14,655
=Jl2g 49,5003 * 1% = 230 11,385
oFF 49,500% * 1% = 46 2,277
cXtsg 49,5003 * 198 » 11 545
cEMIMEE 2E32
14,207,000& * 3.15% 448
201 Let24dH] 4,800 5,400 A 600
02 232gHl 4,800 5,400 A 600
OA& &8I R Xldl 4,800
ofzgEsa NMERIES
250,000& = 12& 3,000
of2gEI22 SHOX |X 2=
150,000& * 12& 1,800
206 M= Hl 3,000 3,000 0
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N = 0l & At & Ml A

A= JIEFAIE & 2H  SSFAHSAEAMEL
dH: 20z 22 € 2Y
Sl 2ALRY - 22 (er:@e)
I SN Y. B () NEAY - BAS 0 AF o il HDS2
S AIAAISE A 2,438,853 2,672,484 N 233,631
=30z 22 ¥ 29 1,776,686 1,925,838 N 149,152
SIANE2Y - 22 1,776,686 1,925,838 AN 149,152
HAIR X 22| 1,434,815 1,586,767 AN 151,952
101 @121l 79,680 66, 182 13,498
03 I HL22 NHE 59, 159 0 59, 159
OFAze A2 (FIIH) 59,159
oJlgaz 49,500 * 3Y x 2302 34,155
oFxsaY 49,500 * 3Y9 » 46 6,831
oA Xt 49,500 * 3¥ x 11 1,634
o N2t £ &
9,300 * 3Y = 48A12F 113 14,732
ocNENMMEE 22
57,352,000& * 3.15% 1,807
04 JI2ZtH22XNHEE 20,521 66, 182 A45,661
OFA A2 o2 20,521
oJlga2 49,5003 * 1Y = 2302 11,385
oFxsY 49,5008 * 1Y x 46 2,277
oIt G 49,5003 * 19 » 11 545
oA 2te =&
9,300 * 198 = 48A12+ = 11& 4,911
ocNENMNMEE 22
19,118,000& * 3.15% 603
oll=H (M= ,0tMFS) 200,0008 » 4 800
201 2et2 Y| 1,067,085 745,585 321,500
01 AFR2t2l bl 37,350 37,350 0
Og Al 24,050
o o X 50,000 * 1 x 1162 5,800
o =2 50,000& » 1% = 365¢ 18,250
OgxzaIT2Y L NE 50,000& * 12& 600
Ooul=sl 1,200
cANERINES HHS 100,000& * 12Y 1,200
ONEE2d TA7Y 1,250
ocZ2JltAgd 33,125& * 485 * 43| 530
o E2R=E 20,0008 * 35 x 12& 720
OFAMNEYE AR2F =t 3,600
oHAEIRY FIEX F&  300,000& x 12& 3,600
OJlEt=+=EH| 6,650,000& * 14 6,650
02 352494l 1,029,735 708,235 321,500
O332=2 2 HA 450,278
oXMIlE 450,278
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M ox
40 5 4

4 SN ESHSALAY A
zel 2 29
29 - 22
CHE - E(BH) - NRMY - BYS 0l &
FIEE] 6. 1602 * 1,550 » 1231 115,042
- NBE 8421 * 230,000kW * 1231 231,840
SEYIIW HIIB(LRFCAISTE)
1,513,008 * 423] 63,546
Yd=nZE HIIE
1,180,0008 * 203 23,600
FcTy 2% HIIE
300,008 * 123l 3,600
MUNOIEST ®IIZ
220,008 * 123l 2,640
S0 "oI2 517,508 * 123l 6,210
2 WIIE 300,008 * 123l 3,600
OXst+E2 60,480
SANEET 442
8002 * 4,500% * 123l 43,200
SANEET S+E2
3209 * 4,500 * 123l 7,280
OXNYRX 5,680
SXSM(SHSLE) 60,0008 * 104 * 23] 120
o2 5000008 * 13| 500
oI UNELE 30,0002 * 1CH * 23l 60
oXtgrcld RFH 5,000,000& * 1CH 5,000
OBM 252 450,0008 * 53| 2,250
O%E 442 376,632
oU24I| £42 50,0008 * 60K * 123] 3,600
CEIIGEBM &2 1,300,008 * 45 5,200
CAYUBHIUHY +42
1,000,008 * 85 8,000
orY HSISHUHY 442
1,500,008 * 95 13,500
CHF(SHALS L AEES) FUAHEES
gora2 52,600,008 * 55 263,000
CHF(STALS L AEES) FUB 89
s42 20,500,008 * 25 41,000
CHIZE Bk +HB(XLEAZY MBHS
ME Za) 20,0008 * 650% * 23l 26,000
oBYI| HIAM £42  90,000% * 504 450
oWEI| HI| AR 320,008 * 23] 640
oBYU HZAS AR 120,008 * 23] 240
oD M4ZE Hh 448
11,0008 * 311 * 23] 6,842
oY RUBA FY 242
10,0009 * 5CH * 122 6,000
o2oRY 82 180,000% * 128 2,160
oggz 9
oNYNA BH2 45,0008 * 204 * 13 9
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JIEFALE & PN 2HFSAEAS S
230z 22 € 29
SSANE2Y - 22
2 RA - ZE-BR(HN) - HEAY - BYS il &t o il
O 2E3 16,400
ocEANME RE= (2ot YaZIE &
2xt) 2,200,000 * 23] 4,400
cNERY 2L
2,000,000& * 6IHA » 13 12,000
O2&3tl 1,200
oA ROrM F3lH 90,000& * 1& 90
o gzl AL &3l 100,000& * 13/ 100
ogt=d J|l=02l 3t 130,000& * 2H 260
ocQtM ekt W=ESEHI 150,000& » 5&H 750
OFAMZe ABXMH 2L 20,508
o 23ANE S AZXMN
450,000& » 200 2 900
ocaxUSAEH AKX 720,000 * 14l 720
SSUIIAH 22X 405,0003 » 20042 810
=J|IAH &8 XM 3,500,000& * 23] 7,000
=o&J| &8l XM 1,000,000& * 23] 2,000
oI PY 25,0003 = 4001 = 13l 1,000
og&I|. eI .NES 800,000& = 23l 1,600
o2 F2H 2 75,000& * 108 750
oc¥dsE 43 7Y 35,000& = 204 700
olHAE ASH P
40,0003 = 1598 « 23| 1,200
=2ZE J|AHLH 285 #<
414,000& = 23l 828
ocFEAM2el XM 7
30,000& = 10& * 102l 3,000
OAlE &EHl RXbl 7,366
o AMZel Xl 7,366
=3l =2 4,500 = 8,986m * 3% 1,214
- EEZEOE 4,500 * 14,547m" x 3% 1,964
SOtE 4,500 * 2,997m" x 3% 405
$AX Ms2 4,500 * 3,915m x 3% 529
=d ZIE 4,500 * 2,666m * 3% 360
AU EE
4,500 * 17,123m" = 3% 2,312
AU AHOIEEE
5,000& = 1,164m" * 10% 582
OJIE EHl S Xl 42,215
o 23ANE SE=3&EH |l
290,000,000& * 1.8% 5,220
oZHE CCTV KA+
45,000,000& * 4.5% 2,025
ocZHEA XHEE KX
1,800,000& * 14l 1,800




M ox
40 5 4

2N 2EHMSAEAMS L

e
&
02

o

.9 (BH) - HSAMY - BAS O Ak o8 ﬁlf& HD=2
o 2UIIAHEH R X bl 857,500& * 404 A 3,430
oagtATSZY KRXH  1,800,000& * 14| 1,800
oAdRUYEI| KAEL 5,000,008 ~ 14! 5,000
o MAIE A& SAlIHI| 1,220,000& = 201 A 2,440
o XSS EX&H S Xl
2,500,000& * 14! % 23] 5,000
SHEH X2 1,500,000 * 14 1,500
CHOIH MCC el X2
2,000,000 * 404 8,000
SHE JAANAE RANE>
6,000,000& * 14 6,000
| 46,636
Stz Hzs 46,636
FEHEUH(SHH)
18,000 » 2& = 7Al2t x 80¥ 20,160
2EHA(AFE)
18,000& * 0.5& = 7AI2H = 802 5,040
Hl & &™) A2 1,400 = 5002 & 700
BAKY 12
18,000& * 2& = 8Al2t x 72 20,736
= 5,000 0
aa 5,000 0
ol Aol Xl =l 5,000,000& * 14 5,000
1 A& 8l 20| 260,000 510,000
260,000 510,000
I DY) A28
1,000,000& * 61 A~ 6,000
AT S AS FUNSZY BLSIA
B B8 2 DAH(SEEINEL 10HA)
70,000,000 * 200 A 140,000
OIAAHOIEHR T L H
20,000,000& * 14 20,000
SRS HI X HIEN
20,000,000& * 14 20,000
S0 NES4 2 =3 22
50,000,000& * 1JH A 50,000
I & HAEEH WA
4,000,000& * 6IH A 24,000
SH| 23,050 23,050
=23 SH| 23,050 23,050
AZE OHLHOIAZ HIOIZ2 #¢
350,000& * 3H 1,050
HE AHAXIG ¢ 250,000& * 8Rol | 2,000
b2k 2 el 20,000,000& * 1CH 20,000
oA 2d 331,771 1,300
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a= A 2H  SSFAHSAEAMEL
PSR = 22 ¢ 29
el g42g - 2ol (B9 ®R)
K- =2 B(3) - AEAY - BYS 0 AF o ﬁlf& HD=2
101 @121l 4,032 4,032 0
04 JI2ZtH2Z2XNHEE 4,032 4,032 0
OJIEa3dH #HAIER0| 4,032
o Ot E 0| 42,0004 « 123 * 8Y 4,032
201 Bt A | 63,739 74,439 A 10,700
02 352494 16,558 16,558 0
O&= 2032 HA3IH| 4,000,000& * 13| 4,000
O3HE XY EH Sl 3,150,000& = 14 3,150
O3HE XY A2 2+ 450,000& * 14! 450
OJIEH &Hl |X] 450,000 * 14 450
OJIgEZ2H XYM ¢ 2,340,000& * 14 2,340
OJIgls SN 2 1,800,000 * 14 1,800
ONAE X7 720,000& * 23| 1,440
OZ2H& Hia 282 1,000,000& * 14 1,000
OZHOIA RXNE= 12,850,000& * 15% 1,928
03 At L I 47,181 57,881 A 10,700
OJIgsH =22 M 41,281
o I AH M & 2,500& * 20000 * 123 6,000
o ™S X Ml & 130& * 2,65000 * 183l 6,201
oS 40K & 500,000& = 123 6,000
c)lEls g2 N 2,200,000& = 33 6,600
o ATtYrEZ VIRN & 1,100,000& * 53] 5,500
odZt JIEZHCHY HEHEH
3,000,000& * 13 3,000
cJIE3dH ARF F2¢ 100,000& * 123 1,200
ool 23t O 2H| 3,000,000& * 23] 6,000
ollOtexE 130,000& * 63| 780
OJIEIEA EESMH 5,900
o M S X Ml & 130& * 2,00004 * 153/ 3,900
o & 9t K & 200,000& = 103 2,000
301 dEtE A Z 264,000 252,000 12,000
09 HAIAHI EA= 264,000 252,000 12,000
OJIgl383d =3 BE42
22,000,000& * 123l 264,000
=SHAE XA 5,000 5,000 0
201 Yer2 | 5,000 5,000 0
01 AFR2 2t 2l Yl 5,000 5,000 0
OM&AEH dx= 5,000
o=4)| 500,000& * 53| 2,500
olgImEH 500,000& * 53| 2,500
SSANE2Y - 22 2E &bl 5,100 3,600 1,500
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A= JIEFAIE & 2H  SSFAHSAEAMEL
dH: 20z 22 € 2Y
Sel SHALRY - 22 (29l & 2)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
202 (4] 3,600 2,100 1,500
01 2L Y] 3,600 2,100 1,500
O3dHY Al&22ldHl 20,0008 * 3¥ x 603 3,600
203 ¥R =Xt 1,500 1,500 0
03 Al =X AR F=XY| 1,500 1,500 0
OUES2HAFE 1,500,000& = 14 1,500
HMSAE 22 639, 142 724,208 A 85,066
SO HSAE 89 - 22 639, 142 724,208 A 85,066
HMEAE 2922 190,008 320,594 A 130,586
101 2124 d| 11,484 10,000 1,484
4 J|2tH 22 NHEE 11,484 10,000 1,484
O&dINE LAAIE oI 2L 11,484
oJlgaz 49,500 * 2% x 95 9,405
oxmY 49,500 + 2% » 18Y 1,782
ocNEMMEE 2E2  9,405,000& * 3.15% 297
201 et A | 128,524 130,594 AN2,070
01 AFR22t2l Yl 6,210 8,280 AN2,070
HMAE &Y AREFY 6,210
oMIEM ¥ ZSH  1box * 280,000 * 93l 2,520
SE=N 10box * 41,000& * 93] 3,690
02 =294l 122,314 122,314 0
OMEANE KXY 50,888
oMALE & HSD 1,000,000& = 14! 1,000
oF2AddH A L A= 6,200,000& * 14 6,200
olNMEs Y MERX 5,000,000& * 14 5,000
o3J|X3 &HlIRAX 4,000,000& * 14 4,000
o XYEIR HUIRX 1,300,000& = 14 1,300
odHLte M ANH 4,000,000& * 14 4,000
oHMEANE &M LU PB4 3,000,000& * 14! 3,000
oMYl RFAES 1,000,000 * 14! 1,000
odsI| &I Ul 1,500,000& = 2CH 3,000
odGX &Hl KX 300,000 * 7oA 2,100
otEZ BIZZ2 SIXIH 3,000,000& * 14 3,000
oZ0Hel 2 ZE KX 600,000& * 3CH 1,800
ocExH W2 RLIE S
5,000,000& * 14 5,000
oEFEZIE =224 SHAE 71X
89,756,000 * 5% 4,488
o8IAMZINIE L Q4B INE SAAIERA
3,000,000& = 14l 3,000
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M ox
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DJIEBFAR & M
CHSAIE 2el
P EEX MEAE 29 - 22

Bl

SHH S A EAE &

A SA - SAEA) - MRAY - BES il HImEET
oJAZIZE A oletelAINE USALERX
3,000,000 * 14l 3,000
OJtz2s 2Bets |RANE=> 17,720
oIl28 RAE=S 80,000& * 345 2,720
ocEotE KFXNEH 80,000& 308 2,400
ofEZdsS B 12,600,000& * 14 12,600
OMSAIE HHISAH 20,530
ocS+=SETH = 510,000,000& = 1.8% 9,180
oZEFINECCTVE XN E =
30,000,000& * 4.5% 1,350
olMZT Ald S X4l 5,000,000& * 20H A& 10,000
OMSANE S+=3&HH 22T
300,000& * 30H 4 900
OdAZHl 32,276
cAHUSEMS2 el 16,920
- 320RT 18,0002 * 1.6T » 8Al2t » 50 11,520
- 150RT 18,0008 =* 0.75T * 8Al2t * 50 5,400
oA HBSEMI2 | 13,536
- 320RT 18,0002 * 1.6T » 8AI2H » 40 9,216
- 150RT 18,0002 * 0.75T * 8AI 2t * 40 4,320
cHEHZ 6503 * 7TAIZt » 404 ~ 100 1,820
401 AIEHIZL 20 20,000 165,000 A 145,000
01 A& Hl 20,000 165,000 A 145,000
OHUAZ S&&4l WA 20,000,000& * 14 20,000
405 RHoHF S HI 30,000 15,000 15,000
01 AL EZFH S 30,000 15,000 15,000
OZ2g=232 ¢ I MLz 2
30,000,000& * 14l 30,000
=2 2g 2 89,713 79,705 10,008
101 @14 Hl 59,763 49,755 10,008
03 RIAHAZ 2 E =+ 19,721 0 19,721
OTEZINE Zel(HIAH) 19,721
=Jl2g 49,5003 * 1% = 230 11,385
oFF 49,500& * 18 = 46 2,277
ocXts¢ 49,5003 * 198 » 11 545
o A 2H2l =G
9,300 = 1H » 48A12t » 11& 4,911
cNEMIEE RES
19,118,000& = 3.15% 603
04 JIZHHZ2Z 2RSS E+ 40,042 49,755 A9,713
OsE3JE 2l 19,721
=Jl2g 49,500% * 198 * 230 11,385
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A= JIEFAIE & 2H  SSFAHSAEAMEL
Bu: FSAL 2
@2 280 HSANE 29 - 2 (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
oFsaY 49,5008 * 1Y x 46 2,277
oIt G 49,5003 * 149 » 11 545
oAelag
9,300 * 198 = 48A12+ = 113 4,911
CNBUNMEE 23
19,118,000& * 3.15% 603
Ogcex&d 19,721
oJlE2 49,5003 * 19 = 230 11,385
oxFsY 49,500 * 1Y x 46 2,277
o Xt 49,500 + 19 » 11 545
oAZtel &g
9,300 * 198 = 48A12+ = 113 4,911
cNBMHRE BYS
19,118,000& = 3.15% 603
o=l 600
oll=SH| (M= ,0tMFS) 200,0008 » 3 600
201 LEt2 Y| 4,200 4,200 0
01 AFR2t2l bl 4,200 4,200 0
O&Cl&2| &dl =2yl 2,000,000& * 14 2,000
O&C7H Ul Ltz 550,000& * 43| 2,200
206 2 25,750 25,750 0
01 X2 Hl 25,750 25,750 0
O&C 228 M=zl 25,750
oXfl&Ae =< 7 9,000,000& * 14 9,000
o &Ll 22| HiE A 2 450,000& * 203 9,000
oxCTEl HIE 7Y
200,000& * 2J A * 53] 2,000
oBEAZ E FC(BXNEH) 25,000& * 150 3,750
oft(Cl2el sXM(EZ2) 2,000,0008 » 14 2,000
dEEIASA 29 153,980 160,582 NB6,602
101 2124 d| 79,680 66, 182 13,498
03 RIHAEZZAE 19,721 0 19,721
OFA 22 (HI|AH ) 19,721
oJlgaz 49,500 * 1Y = 2302 11,385
oxFaY 49,5003 + 19 = 46 2,277
oA Xt 49,500 * 1% » 11 545
o A2t
9,300& * 1Y = 48A12F = 113 4,911
CNBUNEE 23
19,118,000& * 3.15% 603
04 JI2ZtH22XNHEE =+ 59,959 66, 182 NB,223
O A2IEN 59,159
oJlga2 49,5003 * 3Y x 2302 34,155
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oFsad 49,5003 * 3Y 46 6,831
oIt 49,5003 = 3% » 11 1,634
oAelag
9,300 = 3H * 48AI2t » 11E 14,732
cnNBATRE &
57,352,000& = 3.15% 1,807
o=l 800
ollZ2H (Y2 ,00XMFS) 200,0008 * 49 800
201 2Bt | 62,300 62,400 A 100
01 At 22l 21,900 24,400 A 2,500
OArR 22l 7,800
ocEEZSH A (2L B g)
20,000& = 1004 2,000
cHIANIEE 100,000& * 123 1,200
o & =0 X & 100,000& * 2074 2,000
SHMER=EZ 15,0008 * 28 = 128 360
o2 R Al 7,0008 * 4H * 80 2,240
ogxz & 22357 14,100
o2 &HHl X 440,000& = 103l 4,400
oXMOTE S Xt 440,000& * 43 1,760
oM 3 F¢ 300,000& = 123 3,600
cHAES 7¢ 70,000& * 122 840
o A& &Hl |X 500,000& = 73l 3,500
02 =24l 40,400 38,000 2,400
Os38e= 40,400
oM EEE 2,000,000& = 13l 2,000
cMGtTEAMER 400,000 = 12& 4,800
ocMI|ItM 22 450,000 * 123 5,400
CcAZTAMNEZ(RAEAE) 250,000& * 128 3,000
oANEE FANEH 1,500,000& * 12& 18,000
cREIFU(MEIE) 600,000& = 123 7,200
206 T 24 12,000 12,000 0
01 =8l 12,000 12,000 0
O&Cl2el M=l 12,000
oz Y 3,500,000& * 14 3,500
o HHALE 2 & 350,000& = 103l 3,500
oHlg+ ¢ 500,000& * 43 2,000
oEAE S&(0 30,000& = 1007H 3,000
SEX MSALSY - 2l 293 2,640 2,100 540
202 O4dl 2,640 2,100 540
01 = LH 4 Hi 2,640 2,100 540
OMSAI&2el bl 20,000& = 4% = 333 2,640
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B2 A Y| 30,000 0
2Z229H| 30,000 0
OHA=sYLAESLHH I KA 220
30,000,000& * 14! 30,000
AEH L L0 45,000 45,000
Al & H| 45,000 45,000
Ox=d& U= M WA
20,000,000& * 14! 20,000
Oata Xel & xl 10,000,000& * 14! 10,000
O%xg & gd=sal Ab 5,000,000& = 14 5,000
Ox=d & SI|I+# 10,000,000& = {14! 10,000
METHEH 29 127,801 N 3,426
101 Q124 H| 19,721 3,374
04 JI2ZtHIZ2 2 NEES 19,721 3,374
OF A2 19,721
ocllgz 49 5003 * 19 * 230¥ 11,385
oFXS 4G 49,500 * 1Y x 46Y 2,277
oXHIXI=H 49 5003 ~ 19 = 11¢ 545
SYNFAR =y
9,300& * 1 = 48A12F = 1100 & 4,911
oclENMMEE 242
19,118,000& * 3.15% 603
201 et d| 108,080 6,800
01 A2t 2| H| 11,000 A5,800
oM =4HH el 11,000
oHAEE P 40,000 * 10 * 53| 2,000
oSt&HAAR (MEI,HEXE)
1,000,000& * 93l 9,000
02 222 4| 97,080 A 1,000
O2322 % HA 97,080
oML AIES 10,000,000 = 14! 10,000
olMIIR2 50,000,000& * 14! 50,000
ocEHANLEEHZ 2,000,000 = 23] 4,000
cHNEKRLYFES 1,000,000& * 13 1,000
oHMESANLEHEMAUEBE =
4,000,000& = 13 4,000
CAUBHIUNALLE
1,500,000& * 13 1,500
oAM HEISHUEY 228
3,000,000& = 13| 3,000
o 201 AH|IAlA A= 250,000& = 12& 3,000
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f0 2 Y
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2 RA - ZE-BR(HN) - HEAY - BYS il &t o il
04 EAN2I LRI 3,000 3,000
ORN2IHEFA 250,000 * 12 3,000
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